ggd

ud gd ud ud ooooobod
1 = goo E 475,000
2 = goo E 270,000
T3 = goo E 215,000
T3 = ooogs2 E 215,000
TS = ggd E 146,250
TS = g E 146,250
TS = ggd E 146,250
T8 = g E 122,500
T8 = ggd E 122,500
10 = goo E 110,000
T11 = ggd E 97,500
T11 = ggd E 97,500
T11 = ggd E 97,500
T11 = ggd E 97,500
T15 = goo E 80,000
T15 = goo E 80,000
T17 = ggd E 60,800
T17 = ggd E 60,800
T17 = ggd E 60,800
T17 = ggd E 60,800
T21 = ggd E 52,500
T21 = ggd E 52,500
T23 = goo E 50,000
T23 = goo E 50,000
25 = goo E 47,500
T26 = ggd E 43,916
T26 = ggd E 43,916
T26 = ggd E 43,916
T26 = ggd E 43,916
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goo

goo

38,750
38,750
38,750
38,750
38,750
33,062
33,062
33,062
33,062
33,062
33,062
33,062
33,062
29,000
29,000
27,250
27,250
26,000
26,000
26,000
24,500
24,500
24,000
24,000
24,000

24,000
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